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From: Yuwal Peres <peres@stat.berkeley.edu=

Daote: Thu, Jul 26, 2007 at 11:81 PM

Subject:

To: David Wilson <dbwilson@microsoft.com=, Richard Kenyon <kenyon@math.ubc.ca>
Cc: "Levine, Lionel -- Lionel Levine” <levine@math.berkeley.edus=,

Liohel Levine <lionellevine@gmail.com=, Yuwal Peres

<peres@stat.berkeley.edu=

Hi Rick and David,

here is a guestion about the UST in the plane for which you might know
the answer:

What is the expected number of neighbors of the origin that are on

the path to infinity (i.e. on the infinite LERW from the origin)?

Is it 5747
Let's discuss this tomorrow.

Thanks
Yuval and Lionel
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